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Student Name:

Assignment-2

Due Date: Next Week in Class..

Course Title: General Mathematics.

Course Code: Math-101.
Answer the following questions.

(Q1.) Simplify using exponent properties, and express answers using positive expo-

nents only.
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(Q3.) Simplify and factor the following. S ey s ()
1. 93 =
2. V2 -V2 =
3. /B a7 ) =
4. V6 -2 =
5. 10v/6 — 416 =
6. (V2+3z)(vV2—2x) =
7. 3vV/8 +2/18 =
"8 3z =
9. 3va?2 =
10. 24/27 + 53 =
11. /2524y =

- 3. 2y
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(Q4.) Determine the degree of the following polynomials. .&JW! sgud| &S &> )5 sue ()

List of Polynomials

Polynomials

Degree

=4z + 22 +5x—10

A \2))

Va3 —4z? +x + 10

2\

y2a? — 4y32? + 4ayP

A

(Q5.) Evaluate the following polynomials.

1. (42® — 52% + 8z — 5) + (—2® + 102? — 3z + 11) =

2. (42® — 522 +8x — 5) — (—23 + 1022 — 3z + 11) =

3. Bz —4)(222 — 22+ 3) =
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